	TABULATION SHEET			Vendor # 1		Vendor # 2		Vendor # 3	
	Bid No. 2018-020-6713 Landscape Site Improvements a	nd Subse	quent	AquaGreen Global LL	с	C. Green Scaping, L	,	JB a Land Managen	nent LLC
	Maintenance for Five (5) Dallas County Locations -Auton					o. croon ouping, c		55 d Eand Managen	
	Frank Crowley Courts Building, Founders Plaza @ Record	ls Building	g ,Grand Prairie	810 E. Jefferson Blvc	L	2401 Handley Ederv	ille Rd.	10875 Jupiter Rd.	
	Sub Courthouse and Letot Residential Treatment Center			Dallas, Texas 75203		Ft. Worth, Texas 76		Dallas, Texas 75218	3
	Buyer: Debra Morris			Devin D. Guinn		Curtis J. Green		John Battle	
	214-653-7933			469-458-3514		817-577-9299		214-660-1500	
				469-546-4702 - fax		817-577-9331 - fax		214-606-1503 - fax	
				info@agglobal.us		cgreen@greenscaping.	<u>com</u>	jbattle@jbalm.com	
						Non-compliant / no Ar	borist on Staff	Non-compliant / no A	rborist on Staff
				Founders Plaza @ Re					
				Grand Prairie Sub Co Residential Treatmer					
	Recommend for Award			Residential Treatmen	it Center				
	DESCRIPTION:	Estimated	d Unit						
		Ouantity							
	DeSoto Automotive Services Center								
	Not awarding ASC								
	Landscape Demolition								
1	Tree Removal	1	Lump Sum	\$1,800.00	\$1,800.00	\$1,600.00	\$1,600.00	\$120.00	\$120.00
2	Shrub Removal	1	Lump Sum	\$1,000.00	\$1,000.00	\$564.00	\$564.00	\$6.00	\$6.00
3	Existing Sod Removal/Preparation (13,446 s.f)	1	Lump Sum	\$2,000.00	\$2,000.00	\$0.11	\$0.11	\$3,361.50	\$3,361.50
	Landscape Planting								
4	*Compost	30	Cubic Yard	\$75.00	\$2,250.00	\$120.00	\$3,600.00	\$61.13	\$1,833.90
5	*Mulch	60	Cubic Yard	\$75.00	\$4,500.00	\$100.00	\$6,000.00	\$50.00	\$3,000.00
6	Live Oak, 3" Inch Caliper	1	Each	\$350.00	\$350.00	\$700.00	\$700.00	\$488.00	\$488.00
7	Yaupon Holly, 45 Gal	1	Each	\$300.00	\$300.00	\$580.00	\$580.00	\$412.00	\$412.00
8	Burford Holly, 3 Gal	33	Each	\$20.00	\$660.00	\$26.00	\$858.00	\$21.43	\$707.19
9	Bermuda, Re-Seed	18,045	Square Foot	\$0.10	\$1,804.50	\$0.08	\$1,443.60	\$0.04	\$721.80
10	Bermuda, Solid Sod	13,446	Square Foot	\$0.40	\$5,378.40	\$0.38	\$5,109.48	\$0.0495	\$665.58
	*All planting beds and tree rings to receive top dressing: 1" layer of compost topped with 2" layer of mulch								
	Irrigation								
11	Repair of Irrigation System as Noted in Plan	1	Lump Sum	\$7,500.00	\$7,500.00	\$2,730.00	\$2,730.00	\$790.00	\$790.00
	Maintenance Cost First Year Under Warranty (See Section 32 01 30 Appendix A)								
12	Maintenance Cost - Winter Season	1	Lump Sum	\$385.00	\$385.00	\$4,800.00	\$4,800.00	\$6,529.23	\$6,529.23
13	Maintenance Cost - Spring Season	1	Lump Sum	\$730.00	\$730.00	\$7,000.00	\$7,000.00	\$9,793.85	\$9,793.85
14	Maintenance Cost - Summer Season	1	Lump Sum	\$730.00	\$730.00	\$7,000.00	\$7,000.00	\$16,323.07	\$16,323.07
15	Maintenance Cost - Fall Season	1	Lump Sum	\$385.00	\$385.00	\$4,800.00	\$4,800.00	\$9,793.85	\$9,793.85
	Base Bid Total				\$29,772.90		\$46,785.19		\$54,545.97
	Base Bid Total				Vendor		Vendor		\$34,343.77
					Rescind Bid for this location Only		Rescind Bid for this location Only		Vendor Rescind Bid for this location Only
				45 days	only	10	Only	24 days	location only
	Specify Completion and Installation Time Period (include any		Number of Day	······································					
	ordering time for unit, equipment, hardware, material and supplies): All work under this contract shall be completed within		Number of Days /Days						
	calendar days from the date of approved project schedule.								

TABULATION SHEET			Vendor # 1		Vendor # 2		Vendor # 3		
	3id No. 2018-020-6713 Landscape Site Improvements and Subsequent Jaintenance for Five (5) Dallas County Locations -Automotive Service Center, rank Crowley Courts Building, Founders Plaza @ Records Building, Grand Prairie		AquaGreen Global LLC		C. Green Scaping, LP		JB a Land Management LLC		
Sub Courthouse and Letot Residential Treatment Center			810 E. Jefferson Blvd.		2401 Handley Ederville I	łd.	10875 Jupiter Rd.		
			Dallas, Texas 75203		Ft. Worth, Texas 76118		Dallas, Texas 75218		
Buyer: Debra Morris			Devin D. Guinn		Curtis J. Green		John Battle		
214-653-7933			469-458-3514 469-546-4702 - fax		817-577-9299 817-577-9331 - fax		214-660-1500 214-606-1503 - fax		
			info@agglobal.us		cgreen@greenscaping.com		jbattle@jbalm.com		
Irrigation Repairs *									
* This service will be requested on an as needed basis. Price not to include materials needed to make repair. In the event of needing repairs, a quote will need to be submitted by the vendor for the cost of materials.		Hourly Rate	90.00 per hour		\$62.00 per hour		\$100.00 per hour		
Additional Maintenance Visits (See Section 32 01 30 Appendix A)									
Maintenance Cost - Winter Season		Per Visit	\$385.00		\$500.00		\$879.62		
Maintenance Cost - Per Spring Season Visit		Per Visit	\$730.00		\$600.00		\$879.62		
Maintenance Cost - Summer Season		Per Visit	\$730.00		\$600.00		\$879.62		
Maintenance Cost Fall Season		Per Visit	\$385.00		\$500.00		\$879.62		
Specify any additional discount, cost, serve not included:			Not Applicable		Not Applicable				
End of - DeSoto Automotive Services Center									
Frank Crowley Courts Building									
Not awarding Crowley									
Landscape Demolition									
Existing Planters - Plant Soil Mix Removal	1	Lump Sum	\$15,000.00	\$15,000.00	\$6,016.00	\$6,016.00	\$6,950.00	\$6,950.0	
Existing Planters - Plant Material Removal	1	Lump Sum	\$15,000.00	\$15,000.00	\$7,020.00	\$7,020.00	\$0.00	\$0.	
Existing Planters - Waterproofing Removal)	1	Lump Sum	\$7,500.00	\$7,500.00	\$3,352.50	\$3,352.50	\$1,440.00	\$1,440.	
Landscape Planting within Existing Raised Planters									
Waterproofing for Existing Planters (Height of Planters Vary)	2,235	Square Foot	\$2.50	\$5,587.50	\$2.50	\$5,587.50	\$0.64	\$1,430.	
Drainage System Improvements	1	Lump Sum	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00	No Bid		
45 Gallon Ornamental Tree	6	Each	\$300.00	\$1,800.00	\$580.00	\$3,480.00	\$625.00	\$3,750	
5 Gallon Shrub	68	Each	\$35.00	\$2,380.00	\$32.00	\$2,176.00	\$36.25	\$2,465.	
3 Gallon Shrub	291	Each	\$20.00	\$5,820.00	\$28.00	\$8,148.00	\$22.50	\$6,547.	
Plant Soil Mix	167	Cubic Yard	\$75.00	\$12,525.00	\$90.00	\$15,030.00	\$76.25	\$12,733.	
*Compost	7	Cubic Yard	\$75.00	\$525.00	\$120.00	\$840.00	\$76.25	\$533.	
*Mulch	14	Cubic Yard	\$75.00	\$1,050.00	\$100.00	\$1,400.00	\$50.00	\$700.	
All planting beds to receive top dressing: 1" layer of compost topped with 2" layer of mulch topped with 2" layer of mulch									
Irrigation									
Repair of Irrigation System as Noted in Plan	1	Lump Sum	\$20,000.00	\$20,000.00	\$5,460.00	\$5,460.00	\$0.00	\$0.	
Maintenance Cost First Year Under Warranty									
(See Section 32 01 30 Appendix A)									
Maintenance Cost - Winter Season	1	Lump Sum	\$9,100.00	\$9,100.00	\$4,800.00	\$4,800.00	\$7,502.31	\$7,502.	
Maintenance Cost - Spring Season	1	Lump Sum	\$14,950.00	\$14,950.00	\$7,000.00	\$7,000.00	\$11,253.46	\$11,253.	
Maintenance Cost - Summer Season	1	Lump Sum	\$14,950.00	\$14,950.00	\$7,000.00	\$7,000.00	\$18,755.77	\$18,755.	
Maintenance Cost - Fall Season	1	Lump Sum	\$9,100.00	\$9,100.00	\$4,800.00	\$4,800.00	\$11,253.46	\$11,253.	
Base Bid Total				\$140,287.50		\$98,110.00		\$85,315.4 vendor did not bid on a	
Specify Completion and Installation Time Period (include any ordering time for unit, equipment, hardware, material and supplies): All work under this contract shall be completed within calendar days from the date of approved project schedule.		Number of Days /Days	75 days		15 days		37 days	- crosse and more and 001 a	

	TABULATION SHEET			Vendor # 1		Vendor # 2		Vendor # 3	
	id No. 2018-020-6713 Landscape Site Improvements and Subsequent laintenance for Five (5) Dallas County Locations -Automotive Service Center, rank Crowley Courts Building, Founders Plaza @ Records Building, Grand Prairie		AquaGreen Global LLC 810 E. Jefferson Blvd.		C. Green Scaping, LP		JB a Land Management LLC		
	Sub Courthouse and Letot Residential Treatment Center					2401 Handley Ederville R	d.		
	Burry Dahar Mania			Dallas, Texas 75203 Devin D. Guinn		Ft. Worth, Texas 76118		Dallas, Texas 75218 John Battle	
	Buyer: Debra Morris 214-653-7933			469-458-3514		Curtis J. Green 817-577-9299		214-660-1500	
	214-653-7933			469-546-4702 - fax		817-577-9299 817-577-9331 - fax		214-606-1500 214-606-1503 - fax	
				info@agglobal.us		cgreen@greenscaping.com		jbattle@jbalm.com	
	Irrigation Repairs		Hourly Rate	\$90.00 per hour		\$62.00 per hour		\$100.00 per hour	
	* This service will be requested on an as needed basis. Price not to								
	include materials needed to make repair. In the event of needing repairs, a quote will need to be submitted by the vendor for the cost of materials.								
	Additional Maintenance Visits (See Section 32 01 30 Appendix A)								
	Maintenance Cost - Winter Season Visit	1	Per Visit	\$700.00		\$500.00		\$937.88	
	Maintenance Cost - Spring Season	1	Per Visit	\$1,150.00		\$600.00		\$937.88	
	Maintenance Cost - Summer Season	1	Per Visit	\$1,150.00		\$600.00		\$937.88	
	Maintenance Cost - Fall Season	1	Per Visit	\$700.00		\$500.00		\$937.88	
									ato a stars
								Item # 2 - no plants in exi Item # 3 - NO Drainage In	
	Specify any additional discount, cost, serve not included:			Not Applicable		Not Applicable		Specs nor Detail to do wo	rk,
				-rr				#14CY for existing plante needed for Entire Site, wh	
								Maintenance Pricing	
	End of Frank Crowley Courts Buliding								
	Founders Plaza @ Records Building								
	Landscape Shade/Canopy Trees								
	Tree Staking	6	Each	\$40.00	\$240.00	\$110.00	\$660.00	\$26.25	\$157.50
	Re-Planting Existing Low Tree	1	Lump Sum	\$2,500.00	\$2,500.00	\$700.00	\$700.00	\$60.00	\$60.00
	3" Caliper Chinese Pistache	1	Each	\$350.00	\$350.00	\$700.00	\$700.00	\$700.00	\$700.00
	Topdressing - 1" layer of Compost at all trees	3	Cubic Yard	\$75.00	\$225.00	\$120.00	\$360.00	\$61.13	\$183.39
	Topdressing - 2" layer of Mulch at all trees	5	Cubic Yard	\$75.00	\$375.00	\$100.00	\$500.00	\$50.00	\$250.00
	Landscape / Shrub and Planting Beds								
	Bed Preparation for new planting beds - labor	9,060	Square Foot	\$1.50	\$13,590.00	\$1.10	\$9,966.00	\$0.45	\$4,077.00
	Bed Preparation for low spots in beds - 1" Compost; plus 20% for pocket planting	48	Cubic Yard	\$75.00	\$3,600.00	\$120.00	\$5,760.00	\$61.13	\$2.934.24
	Bed Preparation to fill low spots in beds - 1" Screened Black Dirt	18	Cubic Yard	\$75.00	\$1,350.00	\$100.00	\$1,800.00	\$67.38	\$1,212.84
	Fertilizer/Mycorrhizae Application (Humates) for all planting beds	16,617	Square Foot	\$0.15	\$2,492.55	\$0.08	\$1,329.36	\$0.0469	\$779.34
	Fertilizer/Mycorrhizae Application (Ocean Harvest) for all planting								
	beds	16,617	Square Foot	\$0.15	\$2,492.55	\$0.08	\$1,329.36	\$0.0214	\$355.60
	Topdressing - 1" layer of Compost at all planting beds	59	Cubic Yard	\$75.00	\$4,425.00	\$120.00	\$7,080.00	\$61.13	\$3,606.6
	Topdressing - 2" layer of Mulch at all planting beds	115	Cubic Yard	\$75.00	\$8,625.00	\$100.00	\$11,500.00	\$50.00	\$5,750.00
	3 Gallon Indian Hawthorn	85	Each	\$25.00	\$2,125.00	\$28.00	\$2,380.00	\$20.00	\$1,700.00
	1 Gallon Red Yucca.	80	Each	\$12.00	\$960.00	\$13.00	\$1,040.00	\$13.13	\$1,050.40
	1 Gallon Mountain Pea	296	Each	\$12.00	\$3,552.00	\$14.00	\$4,144.00	\$13.13	\$3,886.48
	1 Gallon Twisted Leaf Yucca	357	Each	\$12.00	\$4,284.00	\$16.00	\$5,712.00	\$13.13	\$4,687.4
	1 Gallon Pale Leaf Yucca	42	Each	\$12.00	\$504.00	\$16.00	\$672.00	\$13.13	\$551.40
	1 Gallon Gulf Muhly Grass	15	Each	\$12.00	\$180.00	\$3.00	\$45.00	\$13.13	\$196.95
	4" Pot Liriope Spicata	598	Each	\$2.00	\$1,196.00	\$4.50	\$2,691.00	\$3.00	\$1,794.00
	4" Pot Daylily	210	Each	\$2.00	\$420.00	\$13.00	\$2,730.00	\$6.25	\$1,312.50
	Materials/ Aggregates								
	Limestone Boulder	20	Each	\$500.00	\$10,000.00	\$240.00	\$4,800.00	\$175.00	\$3,500.00
	Stabilized Decomposed Granite (3 1/2" depth)	11	Ton	\$325.00	\$3,575.00	\$220.00	\$2,420.00	\$144.00	\$1,584.00
	Base Course for Decomposed Granite (3" depth)	10	Ton	\$325.00	\$3,250.00	\$120.00	\$1,200.00	\$144.00	\$1,440.00
	Landscape Edging – Aluminum	200	Linear Feet	\$2.00	\$400.00	\$9.00	\$1,800.00	\$1.69	\$338.00
	Atrium Drain Modifications	43	Each	\$100.00	\$4,300.00	\$85.00	\$3,655.00	n/a	
	Aggregate at Drains	5	Ton	\$250.00	\$1,250.00	\$900.00	\$4,500.00	\$137.85	\$689.2
	Sand at Drains	6	Ton	\$150.00	\$900.00	\$600.00	\$3,600.00	\$103.35	\$620.10

	TABULATION SHEET Bid No. 2018-020-6713 Landscape Site Improvements an Maintenance for Five (5) Dallas County Locations -Autom			Vendor # 1 AquaGreen Global LLC		Vendor # 2 C. Green Scaping, LP		Vendor # 3 JB a Land Managem	ent LLC
	Frank Crowley Courts Building, Founders Plaza @ Records			010 E Jofferson Dhud		2401 Llandlou Edopullo	L L	1007E Junitor Dd	
	Sub Courthouse and Letot Residential Treatment Center			810 E. Jefferson Blvd.		2401 Handley Ederville		10875 Jupiter Rd.	
	Dinion Dohno Montio			Dallas, Texas 75203 Devin D. Guinn		Ft. Worth, Texas 76118 Curtis J. Green		Dallas, Texas 75218 John Battle	
	Buyer: Debra Morris 214-653-7933			469-458-3514		817-577-9299		214-660-1500	
	214-653-7933								
				469-546-4702 - fax info@agglobal.us		817-577-9331 - fax cgreen@greenscaping.com		214-606-1503 - fax jbattle@jbalm.com	
	Miscellaneous					cgreense greenseaping.com		Datue & Daim.com	
				\$3,500.00		\$400.00		n/a	
28	Pest Consultation	1	Lump Sum	\$150.00	\$3,500.00	\$110.00	\$400.00	n/a	
29 30	Pest Equipment	10 54	Each Each	\$200.00	\$1,500.00	\$28.00	\$1,100.00	n/a	
	Repair of Irrigation System as Noted in Plan	1		\$4,200.00	\$10,800.00	\$3,840.00	\$1,512.00	n/a	
31	Repair Irrigation	1	Lump Sum	94,200.00	\$4,200.00	\$3,040.00	\$3,840.00	100	
	Maintenance Cost First Year Under Warranty (See Section 32 01 30 Appendix A)								
32	Maintenance Cost - Winter Season	1	Lump Sum	\$5,005.00	\$5,005.00	\$4,800.00	\$4,800.00	\$6,153.08	\$6,153.08
33	Maintenance Cost - Spring Season	1	Lump Sum	\$9,490.00	\$9,490.00	\$7,000.00	\$7,000.00	\$9,229.62	\$9,229.62
34	Maintenance Cost - Summer Season	1	Lump Sum	\$9,490.00	\$9,490.00	\$7,000.00	\$7,000.00	\$15,382.61	\$15,382.61
35	Maintenance Cost - Fall Season	1	Lump Sum	\$5,005.00	\$5,005.00	\$4,800.00	\$4,800.00	\$9,229.62	\$9,229.62
	Base Bid Total				\$126,151.10		\$113,525.72		\$83,412.06
							,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		vendor did bid on all
	Specify Completion and Installation Time Period (include any ordering time for unit, equipment, hardware, material and supplies): All work under this contract shall be completed within calendar days from the date of approved project schedule.		Number of Days /Days	60 days		20 days		32 days	
	Irrigation Repairs								
	* This service will be requested on an as needed basis. Price not to include materials needed to make repair. In the event of needing repairs, a quote will need to be submitted by the vendor for the cost of materials.		Hourly Rate	\$90.00 per hour		\$62.00 per hour		\$100.00 per hour	
	Additional Maintenance Visits (See Section 32 01 30 Appendix A)								
	Maintenance Cost								
	Maintenance Cost - Winter Season	1	Lump Sum	\$385.00		\$500.00		\$769.00	
	Maintenance Cost - Spring Season	1	Lump Sum	\$730.00		\$600.00		\$769.00	
	Maintenance Cost - Summer Season	1	Lump Sum	\$730.00		\$600.00		\$769.00	
	Maintenance Cost - Fall Season	1	Lump Sum	\$385.00		\$500.00		\$769.00	
	Specify any additional discount, cost, serve not included:			Not Applicable		Not Applicable		Item # 28- Pest Consu to not Specs nor Detai Item #29 - Pest Equip not Specs nor Detail to	ecs nor Detail to price, ltation did not bid - Due l to price , ment did not bid, Due to o price , Item # Repair did not bid- Due
	End of Founders Plaza @ Records Building								
	Grand Prairie Sub Courthouse								
	Landscape Demolition								
1	Tree Removal	1	Lump Sum	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$1,250.00	\$1,250.00
2	Shrub Removal	1	Lump Sum	\$1,000.00	\$1,000.00	\$6,108.00	\$6,108.00	N/A	
	Landscape Planting					*****			
3	*Compost	30	Cubic Yard	\$75.00	\$2,250.00	\$120.00	\$3,600.00	\$61.13	\$1,833.90
4	*Mulch	60	Cubic Yard	\$75.00	\$4,500.00	\$100.00	\$6,000.00	\$50.00	\$3,000.00
5	Bur Oak, 3-Inch Caliper	2	Each	\$350.00	\$700.00	\$740.00	\$1,480.00	\$424.10	\$848.20
6	Shrub, 5 Gallon Shrubs	167	Each	\$35.00	\$5,845.00	\$32.00	\$5,344.00	\$36.25	\$6,053.75
7	Shrub, 1 Gallon	84	Each	\$12.00	\$1,008.00	\$12.00	\$1,008.00	\$13.13	\$1,102.92
8	Drainfield Seed Mix	1,100	Square Foot	\$0.25	\$275.00	\$0.40	\$440.00	\$0.08	\$88.00
9	Wetland Fringe Mix	400	Square Foot	\$0.25	\$100.00	\$1.20	\$480.00	\$0.0275	\$11.00
10	Decomposed Granite	60	Cubic Yard	\$150.00	\$9,000.00	\$120.00	\$7,200.00	\$119.50	\$7,170.00
	*All planting beds and tree rings to receive top dressing: 1" layer of compost topped with 2" layer of mulch								

	TABULATION SHEET			Vendor # 1		Vendor # 2		Vendor # 3	
	Bid No. 2018-020-6713 Landscape Site Improvements and	Subse	auent	AquaGreen Global LLC		C. Green Scaping, LP		JB a Land Manageme	antIIC
	Maintenance for Five (5) Dallas County Locations -Automo	tive Se	ervice Center,	Aquadreen dibbar EEC		o. oreen scaping, Er		50 a Lana Managerrie	
	Frank Crowley Courts Building, Founders Plaza @ Records	Buildir	ng ,Grand Prairie	810 E. Jefferson Blvd.		2401 Handley Ederville R	d.	10875 Jupiter Rd.	
	Sub Courthouse and Letot Residential Treatment Center			Dallas, Texas 75203		Ft. Worth, Texas 76118		Dallas, Texas 75218	
	Buyer: Debra Morris			Devin D. Guinn		Curtis J. Green		John Battle	
	214-653-7933			469-458-3514		817-577-9299		214-660-1500	
				469-546-4702 - fax		817-577-9331 - fax		214-606-1503 - fax	
				info@agglobal.us		cgreen@greenscaping.com		jbattle@jbalm.com	
11	Irrigation Repair of Irrigation System as Noted in Plan	1	Lump Sum	\$10,000.00	\$10,000.00	\$2,730.00	\$2,730.00	\$1,700.00	\$1,700.00
	Maintenance Cost First Year Under Warranty (See Section 32 01 30 Appendix A)								
10			Luma Cum	\$9,100.00		\$4,800.00		\$5,450.77	
12	Maintenance Cost - Winter Season	1	Lump Sum	\$9,100.00	\$9,100.00	\$7,000.00	\$4,800.00	\$8,176.15	\$5,450.77
13	Maintenance Cost - Spring Season	1	Lump Sum	\$14,950.00	\$14,950.00	\$7,000.00	\$7,000.00	\$13,626.92	\$8,176.15
14 15	Maintenance Cost - Summer Season Maintenance Cost - Fall Season	1	Lump Sum Lump Sum	\$9,100.00	\$14,950.00	\$4,800.00	\$7,000.00	\$8,176.15	\$13,626.92
15	Maintenance Cost - Pail Season	1	Lump Sum	\$7,100.00	\$9,100.00	\$ 1,000.00	\$4,800.00	00,170.10	\$8,176.15
	Base Bid Total				\$83,778.00		\$59,590.00		\$58,487.76
									vendor did not bid
									on all items in the section
				75 Days		15 Days		24 Days	5001011
	Specify Completion and Installation Time Period (include any		Number of Days						
	ordering time for unit, equipment, hardware, material and supplies): All work under this contract shall be completed within calendar days from the date of approved project schedule.		/Days						
	Irrigation Repairs								
	* This service will be requested on an as needed basis. Price not to			\$90.00 per hour		\$62.00 per hour		\$100.00 per hour	
	include materials needed to make repair. In the event of needing								
	repairs, a quote will need to be submitted by the vendor for the cost of materials.		Hourly Rate						
	Additional Maintenance Visits (See Section 32 01 30								
	Appendix A)								
	Maintenance Cost								
	Maintenance Cost - Winter Season	1	Lump Sum	\$700.00		\$500.00		\$681.35	
	Maintenance Cost - Spring Season	1	Lump Sum	\$1,150.00		\$600.00		\$681.35	
	Maintenance Cost - Summer Season	1	Lump Sum	\$1,150.00		\$600.00		\$681.35	
	Maintenance Cost - Fall Season	1	Lump Sum	\$700.00		\$500.00		\$381.35	
	Specify any additional discount, cost, serve not included:			Not Applicable		Not Applicable			
	End of Grand Prairie Sub Courthouse								
	Letot Residential Treatment Center								
	Landscape Demolition								
1	Tree Removal	1	Lump Sum	\$2,100.00	\$2,100.00	\$5,300.00	\$5,300.00	\$420.00	\$420.00
2	Shrub Removal	1	Lump Sum	\$1,000.00	\$1,000.00	\$8,324.00	\$8,324.00	\$732.00	\$732.00
	Landscape Planting								
3	*Compost	20	Cubic Yard	\$75.00	\$1,500.00	\$120.00	\$2,400.00	\$61.13	\$1,222.60
4	*Mulch	40	Cubic Yard	\$75.00	\$3,000.00	\$100.00	\$4,000.00	\$50.00	\$2,000.00
5	Live Oak, 4-Inch Caliper	1	Each	\$400.00	\$400.00	\$940.00	\$940.00	\$663.48	\$663.48
6	Shumard Oak, 4-Inch Caliper	3	Each	\$400.00	\$1,200.00	\$940.00	\$2,820.00	\$777.00	\$2,331.00
7	Crape Myrtle, 65 Gal	3	Each	\$350.00	\$1,050.00	\$700.00	\$2,100.00	\$629.00	\$1,887.00
8	Asian Jasmine, 1 Gal	20	Each	\$12.00	\$240.00	\$12.00	\$240.00	\$13.13	\$262.60
9	American Beautyberry, 5 Gal	1	Each	\$35.00	\$35.00	\$36.00	\$36.00	\$48.75	\$48.75
10	Nandina, 3 Gal.	77	Each	\$25.00	\$1,925.00	\$31.00	\$2,387.00	\$30.00	\$2,310.00
11	Nellie R Stevens Holly, 36" HT. Min.	44	Each	\$300.00	\$13,200.00	\$185.00	\$8,140.00	\$110.00	\$4,840.00
12	Decomposed Granite	2	Each	\$150.00	\$300.00	\$125.00	\$250.00	\$127.50	\$255.00
	Irrigation			\$10,000.00				\$925.00	
13		1	Lump Sum			\$5,460.00			

	TABULATION SHEET			Vendor # 1		Vendor # 2		Vendor # 3	
	Bid No. 2018-020-6713 Landscape Site Improvements and Maintenance for Five (5) Dallas County Locations -Automo	tive Se	ervice Center,	AquaGreen Global LLC		C. Green Scaping, LP		JB a Land Management LL	.c
	Frank Crowley Courts Building, Founders Plaza @ Records Building ,Grand Prairie Sub Courthouse and Letot Residential Treatment Center			810 E. Jefferson Blvd.		2401 Handley Ederville R	td.	10875 Jupiter Rd.	
				Dallas, Texas 75203		Ft. Worth, Texas 76118		Dallas, Texas 75218	
	Buyer: Debra Morris			Devin D. Guinn		Curtis J. Green		John Battle	
	214-653-7933			469-458-3514		817-577-9299		214-660-1500	
				469-546-4702 - fax		817-577-9331 - fax		214-606-1503 - fax	
				info@agglobal.us		cgreen@greenscaping.com		jbattle@jbalm.com	
	Maintenance Cost First Year Under Warranty (See Section 32 01 30 Appendix A)								
14	Maintenance Cost - Winter Season	1	Lump Sum	\$9,100.00	\$9,100.00	\$4,800.00	\$4,800.00	\$5,586.15	\$5,586.15
15	Maintenance Cost - Spring Season	1	Lump Sum	\$14,950.00	\$14,950.00	\$7,000.00	\$7,000.00	\$8,379.23	\$8,379.23
16	Maintenance Cost - Summer Season	1	Lump Sum	\$14,950.00	\$14,950.00	\$7,000.00	\$7,000.00	\$13,965.38	\$13.965.38
17	Maintenance Cost - Fall Season	1	Lump Sum	\$9,100.00	\$9,100.00	\$4,800.00	\$4,800.00	\$8,379.23	\$8,379.23
	Base Bid Total				\$84,050.00		\$65,997.00		\$54,207.42
				75 Days		15 Days		18 Days	
	Specify Completion and Installation Time Period (include any ordering time for unit, equipment, hardware, material and supplies): All work under this contract shall be completed within calendar days from the date of approved project schedule.		Number of Days /Days						
	Irrigation Repairs								
	* This service will be requested on an as needed basis. Price not to include materials needed to make repair. In the event of needing repairs, a quote will need to be submitted by the vendor for the cost of materials.		Hourly Rate	\$90.00 per hour		\$62.00 per hour		\$100.00 per hour	
	Additional Maintenance Visits (See Section 32 01 30 Appendix A)								
	Maintenance Cost								
	Maintenance Cost - Winter Season	1	Lump Sum	\$700.00		\$500.00		\$762.00	
	Maintenance Cost - Spring Season	1	Lump Sum	\$1,150.00		\$600.00		\$762.00	
	Maintenance Cost - Summer Season	1	Lump Sum	\$1,150.00		\$600.00		\$762.00	
	Maintenance Cost - Fall Season	1	Lump Sum	\$700.00		\$500.00		\$762.00	
	Specify any additional discount, cost, serve not included:			Not Applicable		Not Applicable		Item # 12- Decomposed ( Changed Unit from Each to vards)	
	End of Letot				t 202 070 10				

## \$293,979.10

			<i>4273,777.</i> 10		
		TOTAL AWARD			
			vendor total \$292,689.10		
	*For Information Only				
	DESCRIPTION	Unit of Measure			
1	Solenoid	Each	\$30.00	\$70.00	\$96.00
2	Zone Valve	Each	\$120.00	\$240.00	\$256.00
3	Valve Repair Kit	Each	\$150.00	\$110.00	\$188.00
4	4" Sprinkler Head	Each	\$12.00	\$48.00	\$33.00
5	6" Sprinkler Head	Each	\$18.00	\$56.00	\$37.00
6	12" Sprinkler Head	Each	\$25.00	\$66.00	\$44.00
7	Rotator	Each	\$15.00	\$84.00	\$74.00
8	Spray Head (various distances 4' - 18')	Each	\$10.00	\$48.00	\$7.25
9	1" PVC Pipe	Each	\$5.00	\$4.00	\$42.00
10	1/2" PVC Pipe	Each	\$3.00	\$3.00	\$32.00
11	Flex Connector	Each	\$2.00	\$34.00	\$1.35
12	Bubbler	Each	\$10.00	\$42.00	\$10.60
	Dallas County reserves the right to add locations to this contract as de				
	state the percentage (%) discount per square footage on added locatio	ns.			
	*This will not be part of the bid evaluation	Vendor rate: \$/per square foot	\$1.00 per square foot	N/A	N/A
	*This will not be part of the bid evaluation	Discount Percentage	2% discount	0%	N/A

Devin D. Guinn 469-337-5143

Primary Contact Person Contact Person Name: Telephone Number:

John Battle 214-878-0937

Chip Burchfield 817-229-7718

TABULATION SHEET	Vendor # 1	Vendor # 2	Vendor # 3
Bid No. 2018-020-6713 Landscape Site Improvements and Subsequent Maintenance for Five (5) Dallas County Locations -Automotive Service Center,	AquaGreen Global LLC	C. Green Scaping, LP	JB a Land Management LLC
Frank Crowley Courts Building, Founders Plaza @ Records Building ,Grand Prairie Sub Courthouse and Letot Residential Treatment Center	810 E. Jefferson Blvd.	2401 Handley Ederville Rd.	10875 Jupiter Rd.
Sub courthouse and Letor Residential Treatment Center	Dallas, Texas 75203	Ft. Worth, Texas 76118	Dallas, Texas 75218
Buyer: Debra Morris	Devin D. Guinn	Curtis J. Green	John Battle
214-653-7933	469-458-3514	817-577-9299	214-660-1500
	469-546-4702 - fax	817-577-9331 - fax	214-606-1503 - fax
	info@agglobal.us	cgreen@greenscaping.com	jbattle@jbalm.com
E-mail address:	dquinn@aqqlobal.us	cburchfield@greenscaping.com	jbattle@jbalm.com
Secondary/Back-up Contact Person:			
Contact Person Name: Telephone Number:	Wanda R. Brooks	Mark Virto	David Leung
E-mail address:	469-458-3514 wbrooks@agglobal.us	817-343-0209 mvirto@greenscaping.com	469-785-1386 dlaeung@jbalm.com
Specify any additional discounts, cost, services not included		N/A	
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:	Not Applicable	None- all work performed in house	
Specify additional comments			
a) Does your company provide health insurance coverage to its eminivenes? b) If your company does provide health insurance coverage to its eminivenes, ches the company share in the cost a minimum of: 95% for employee only coverage?	No	Yes	Yes
85% for employee +children		No	No
73% for employee +spouse		No	No
71% for employee + family coverage		No	No
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description?	No	Yes	Yes
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?	Yes	N/A no subs used in this contract	No